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[ General Knowledge }

. Fuafuafea # | f5a gamre sria A mish sft 3 yer

FUH YRT g1 ferame
In which of the following Satyagraha campaigns, Mahatma
Gandhi did not participate directly?

TS I YRS Rajkot (b) WSTIAYE Kheda
Satyagraha Satyagraha
JOHH TAYE Vaikom  (d) SMEEINT 3T Non-
Satyagraha cooperation movement
AT HT B H 3rgare fea- fosar ur
Who translated the Ramayana into Persian?
Abul Fazi 3{gd WIS (b) Sfegcl 3TSMT& Abdul azad
&@WAbdul latif (d) SR TN Ishwar Das

. YE3Agdare &1 ufaure e fbar ur

Who propounded 'Shuddadvaita' ?

Trearerd 3 Madhwacharya (b) JeaHTE™ 5

Vallabhacharya

fepiarard 3 (d) Tl'l:l'lﬂﬁfef Ramanuja
Srikantacharya
T g% fPa a A aERa 4 2

Mahatma Buddha was related to which dynasty?

JTJP Gyatagya (b) arf Maurya
RMA Shakya (d) P2 Kuru
YR T o gr=gar e yrarsh #t Sen 82

The number of languages recognized in the Indian
Constitution is-

12 (b) 13

14 (d) 22

YR wfau @1 <& 718 g sl 7 @ 9 e
ST & A Dt G aUT STP T &A1 BT faawor
)

Which one of the following schedules of the Indian
Constitution, lists the names of States and specifies their
territories?

gl ST First (b) GO 3TN Second
schedule schedule

st &WThird (d) a*r%ﬁ&a&?ﬁ Fourth
Schedule schedule

YR Pt GG §RT go-9¢d faRie & 5w adf o

urfya far mar ur?

The anti-defection law was passed by the Parliament of
India in the year ?

1984
1986

(b) 1985
(d) 1988

faarg 9 faame-fawde ok Me a1 Fufafea & fFa
g & siafa aftfea g -
Marriage and divorce and adoption are covered under
which of the following lists -

(@)

(©)

(@)

©

10.

(@)

(©)

11.

(@)

(©)

12.

(@)
(©)

13.

(@)
(©)

14.

(@)

(©)

o -FaGA A List1-  (b) Jel i1 - Iod T H List 11 -
Union List In State List

i 11 - A Gt H st (d) $TH DS T8l None of
11l - Concurrent List these

FEqH ATAd AT B gHars S foeeht § Fean g,
g et o =M R it graTs HR Adan g-

The Supreme Court hears cases in New Delhi, but can also
hear at any other place-

W%W@By

the approval of the

(b) I=TH I B
iRl S SgHd U By a

President majority of judges of the
Supreme Court
UG & SIAGT U By the  (d) 1o fAU THT & SFRIY

approval of Parliament TR By the request of the

State Legislative Assembly

W BIP (Sir Creek) ﬁ’f@ﬁ %?

Where is Sir Creek Located?

TR S I AEART  (b) TGN (T YRd-TTeh AT
YRJ-UT IHHT R On TR On Indo-Pak border in
Indo-Pak border with Ladakh

Gujarat

IR-GE B YRA-ATHAT  (d) HRI-HIHR HHT TR on

TX On the India-China the Indo-Myanmar border

border in the northeast

yafaRoie Smraer & 1Y Yaa: Tt Tre- -

Which of the following Environmental organization is

basically related with-
HTHIMEIR (CSIR) CSIR -~ (b) TTSSIAR3MTE (NEERI)
NEERI

HFSMSUBIRAS (CIFRI)  (d)  SMSTITIR (ICAR) ICAR

CIFRI
gt W) Herd: U € famne yavs o1 i wed §-
Initially the only huge land on the earth called -

TYTEHT Panthalassa (b) ofomr Pangea
AR Laurecia (d) TiEaH 'S Gondwanaland

oo ¥ =g Sgauiic §& o1 B Fel (RAd 82
Where is the headquarters of New Development Bank of
BRICS located?

Qi"iﬂ_st Shanghai (b) :Iéﬁﬁﬁ New Delhi
STSHTQRIT Brasilia (d) TARDT Moscow

YRd PR & gole ATPps] H, TS IYY °IeT 8-
In the budget figures of the Government of India, fiscal
deficit is-

FdIA- FA UG Total ~ (b) IToTG I I[oTed UTMGT
expenditure - total Revenue expenditure -
receipts Revenue receipts

ol o - el o+ (d) T o - Wi wifrat
IR SURY Capital (TR 507 UG Total

expenditure - capital
receipts + market
borrowings

expenditure — Primary
receipts (non-debt
receipts)
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@

foa<fra 9w (Financial Inclusion) 3 lﬂT\‘le%'H fear s
TPHdT 3-

Financial Inclusion can be encouraged-
JmaqiiaisifaRn (b)) P smTiE ani s
IRG UF SR B | By IR 3YAT AdH ARy
issuing specific letter of ST AamT U B> |

credit to the eligible
beneficiaries.

By providing banking
services to people of lower
income group with zero or
minimum residual.

FH TG a1 A DI (d) Iudad gt &b gRII By all
fo<iig YTt Y e | of the above.

By providing financial

services to low income

people.

M F FRT P AA AT PP RTBEA R -

The agriculture practice is done by Baiga is called ?
IR Baari (b) AR Bewar
i Both (d) ﬁﬁﬁaﬂ_&;ﬁNone of

these

T ST BT SRS WRd 3R 5 3w &
dafrmeneid e

"Sampriti-IX" exercise is being organized between India
and which country?
TS Bangladesh (b) Y Russia
SITA Japan (d) 3MR®T America
fafaf@a A R S ifmraa

Who among the following was the last Guru of Sikhs?
1I\FS-I\_{iT'Té_OI'Guru arjun (b) 11?7%11 d8lgX Guru Tegh
dev Bahadur
RIC fa< Rig Guru (d) T 3f & &4 Guru Angad
Govind Singh Dev
WA & HUIg® 3 -

Which of the following is the editor of 'Swadesh Vahini' -
Frf Iy (b) .. gerfemrR eN
Raman Pillai Mudaliar
F. IHHW e k. (d) I.3MR. IS} C.R Ready
Ramakrishna Pillai

e [Py vy J welta e 8 2

'Shulba Sutras' is a book related to which subject?

O mathematics (b) TXPd Sanskrit
Sy Astrology (d) STt Geometry

ST FUT T ITFHTUFS fH| AT ST @ 2

Who would be elected as the Deputy Chairman of Rajya
Sabha?

et W afqa s IsaayT (b)) et i afea sl s sw
H1 Y& g O BT U T 5T THT BT TG 8
Epf Any person who is Any person who is a
eligible to be elected a member of Rajya Sabha at
member of Rajya Sabha that time

(©

22.

(@)

©

23.

(@)

(©)

24.

(@)
(©)

25.

(@)
(©)
26.
(@)
(©)

27.

(@)
(©)

28.

(@)
(©)

29.

e o ot i we@ dl (d) GRS QU H
To any member of fbaf Person of
parliament Rajya Sabha nominated by

the President

g # @ 319 ITUUTd B US P IOy e 2

Who among the following administers the oath of office to
the Governor?

HRd DT TI'E'Qﬁ President

of India

(b) =g <araTerg &1 qeq
TR Chief Justice of
the Supreme Court

I A &1 A (d) TEfa =T & FAadae

ITATERT Chief Justice of RISUTC Outgoing

High Court governor of the respective
state

U GYT T8 U F g st 8 -

The expression 'Grama Sabha' correctly refers to-
foit Mg & aRg AR (b) foheht 7ifa ot gt
1 To the senior citizens of SFRGRAT B To the whole

a village population of a village
Yargd & fore Rafasw (d) Hemd ¥ faffa e @t
HEA P To the electorate To the elected members of

for the Panchayat the Panchayat

fiferrd A oA arer sraiwr A W qeRaTe 2
The latitude which passes through Sikkim also passes
through .?

BT Haryana (b) TSI Rajasthan

JTRIGS Uttarakhand (d) REIE! TS Himachal
Pradesh

AT P ST fra T A Ry B 2

Panna National Park is located in which state?

RTSTRYTH Rajasthan (b) HBRY Maharashtra

ORI Gujarat (d) HET UK Madhya Pradesh

¥ 1R IR 9 ATl A § -

The crop sown throughout the year is -

JSa Black gram (b) 1ﬁ_gwheat

Tlé Black Mustard Seed (d) HIRI Corn

T I3 3l § srafRud aR) &1 6Wqg , Peardrs -

The stars forming a group that has a recognisable shape is
called-

S{THTRIT Galaxy (b) &= Constellation
Q:f::@ﬁ?{l Andromeda (d) YRHESH Solar System

g & @ S 19-91 faaeiiy M Ad S13GEIIR ?

Which of the following is an Example of Abyssal Igneous

Rock?
SYICT Basalt (b) DL <C Granite
WITC Slate (d) Tc.ﬁ?htl'lg? Dolomite

s a6 W it & Fg » gaa Fec R@ g 2

At sea level which location would be closest to the center of
the earth?
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GﬂﬁﬂHNorth Pole (b) W@TTropic of
Capricorn

P @ Tropic of Cancer  (d) '{qu Equator

ﬁagﬁaﬁﬂmwhwmﬂmﬂﬂﬁm

GIdle ?

Which of the following taxes is not collected by the Central
Government?

3T HX Income tax
AARAD B

Professional tax

YR & 71 & frasd gr1 FFrafia fearsmar g »

The insurance sector in India is regulated by-

(b) ?ﬂﬂTW Custom duty
(d) Jdlq Yedh Excise duty

TSR o AMEMRB. 1 (b) IT3MS.3MS. C.I.I
318, 3MR.S1.U. IRDA (d) st seBl
TG &R arell 831 We EakRunind!

The green plates with white lettering indicate

YRA TS VI A6 Bharat  (b) IAGC AT Electric
Stage VI vehicle vehicle
SIoTdl dTgH Diesel vehicle (d) %@%W

Diplomatic vehicle

U B Wl & forg FufafEa § & s- ufRufaat
TP §2

Which of the following conditions are necessary for the
cultivation of cotton?

J dIHH 3R s
auf High temperature and
heavy rainfall

TG AHH 3R HEH
Yl Moderate
temperature and
moderate rainfall

W Wia: 918 TeauiHew fag fafam P TH
WY ARl SR g |

'Free Fall: My Experiments with Living' is a self-help memoir
of

(b) 5 aoEE R %4 auf
Low temperature and low
rainfall

(d) I AUHM 3R Herd auf
High temperature and
moderate rainfall

&l TRV Nambi (b) U 37eit subhashini
Narayanan Ali

TS HHRIE Sonal (d) HfTHT RIHTS Mallika
Mansingh Sarabhai

SaATelt ) e St uda 9t g

Deomali is the highest mountain peak of
S8R Bihar (b) BTRAIG Chattisgarh
SIS Odisha (d) XTSTRIT Rajasthan

BT 8§ § gATges ace vafe 3 5w 3w & e
THIRITRA o1 Refaa = fear 82
Which country's Wrestling Association has been suspended
by United World Wrestling recently?

SMRBT America (b) HRd India
BT Pakistan (d) Ebgrac:lﬁnone

37.

(@)

(©)

38.

(@)
(©)

39.

(@)
(©)

40.

(@)
(©

41.

(@)
(©

42.

(@)
(©

43.

(@)
(©)

44.

(@)

(©

45.

(@)
(©

T4 81 A X PT UGl ‘Al Toor Fgi @id a1 a1 82

Where has Kerala’s first 'Al School ' been launched recently

?
ﬁlﬁqﬁw (b) ﬁﬂKThrissur
(d) aﬂgﬁnone

Thiruvananthapuram
P Kochi

TTa 81 ¥ fp 39 ¥ TR v g AaaHt figha &1
IEE] gl %? Which country's Wagner chief Yevgeny
Prigozhin has passed away recently?

W Ukraine (b) =¥ Russia
SRS Belarus (d) Teftal

™1 %? Where has the Dancing Pikachu event been
organized recently?

ST Japan (b) I china
Zf&MuT IR south Korea (d) Taft all
mé’tﬁ@ﬂmﬂa"mﬁﬂqgaﬂ%%aﬁqﬁ? Recently

'Seema Dev ' has passed away, who was he?

RIS Singer (b) ARIBT Writer
ST Actress (d) aﬁ_sc:rﬁnone
79 g1 # 5w =g & qewEt 4 ff ggaE dte &

SgdlcH T % What is the inauguration of Shri Hanuman
Lok by the Chief Minister of which state recently?

T USRI Madhya Pradesh  (b) STIERIG Chhattisgarh
NS Odisha (d) gutall

TT9 81 § P 7Y SUNT fGa® 9 #1137
When has the National Small Scale Industries Day been
celebrated recently?

25 3R 25 August
29 IR 29 august

(b) 30 3T 30 August

(d) aﬂ‘s‘ﬁ none

TTeT UTa’ TSl forfies forw =g # 28.12
AraTe & W Tl eiae & fore gweiiar frar @2 Tata

Power Renewable Energy Limited has signed an agreement
for 28.12 MW green energy project in which state?

JTR UG Uttar Pradesh (b) TS8R Bihar

HERTY Maharashtra (d) TRHId UG Himachal
Pradesh

o ardf §f&ar 2023 &1 Raara fa= siar?

Who won the title of Miss Earth India 2023?

fOa 9 Priyan Sen (b) dfRAHTURAR Vanshika
Parmar

AT ARET Sweta Sharda (d) ?T@EETR Rakhi Kapoor

fay T fRaw ufoad sa w-mT ST 7 2

When is World Sanskrit Day celebrated every year?

31 3Td 31st August (b) 20 3{TXd 20th August

(d) aﬂéﬂ%ﬁ none

27 3T 27th August
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51.
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foar T &2 Warship 'Mahendragiri' has been built by
which Shipbuilders Limited?

a1 Rars RS Goa  (b) PRI Ruwms faftes
Shipyard Limited Cochin Shipyard Limited
TETia §id Rufdeed (d) eiton RS fafies
Mazagon Dock ABG Shipyard Limited
Shipbuilders

frg d@ A 9T YR & TUq @ 3RS Afdw
JBI3e Al fpar %? Which bank has launched a new
type of savings account 'Infinity Savings Account'?

W%Axis Bank (b) PEIFERENEED Punjab
National Bank

W dF 3T fSATstate  (d) TISITHHT §&F HDFC Bank

Bank of India

@A BT GHITET drerT Bt 4RI ge1 1 Tt g,

g 5 wvg @ gwfia %? The amount of Chief Minister
Kanya Sumangala Yojana has been increased, it is related to
which state?

S8R Bihar (b) T YGR Madhya Pradesh
SIH Assam (d) JTR UGH Uttar Pradesh
A 2023 # WA 3R IRAR FET0T HAE & q85d

TRY YT (Mg HRd fSforea firmm)
F F = ¥ frd frgea frarmar @2
Who has been appointed as the Director of the National
Health Authority (Ayushman Bharat Digital Mission) under
the Ministry of Health and Family Welfare, in January 2023?

9T R Vikas (b) ST.fa7g g g or

Purohit Vinaya Prakash Singh

3o HHR HlaRad Ajay  (d) ATOT =S Praveen

Kumar Srivastava Sharma

BRadt 2023 § U F 9 fore A g # gore U famame
Who among the following presented the budget in the
Parliament in February 2023?

tﬂqmﬂaa Piyush Goyal (b) e FaRA Nirmala

Sitharaman
HeH Hict PM Modi (d) 3{fHd ATE Amit Shah

[ Reasoning }

TRRTmIAs uy A fas (: ;) P 718 3R S 3res few
T € R omud # v UK A $IS "oy g1 St It
TPR BTHIY g (:: ) PR AR Ru MU I F T A
W 3, 76t faweu 31sg oMUt SR 71 O SR fawew A
RICEdIS 1Y

GER : TUIST: : 2 : PegTSl

In each of the following questions, two words are given on
the left side of the symbol (::) in which there is some kind of
relationship among themselves. The same type of relation
is also between the word to the right of the sign (::). Find
the correct answer from the option.

Blacksmith: Hammer :: ? : Axe

Tl Gardener (b) AP SERIwood cutter

(©)

52.

(@)
(©)

53.

(@)
(©)

54.

(@)
©

55.

(@)
(©)

56.

(@)
(©)

57.

(@)
(©)

58.

(@)
(©)

'_-|'I'Sc Barber (d) TGS Author

ds®! B U ufed H, IR® Ufed & S SR A 18 d
AR IR AP s g ?

In a line of boys, Tarak is 18th on both ends of the line.
How many boys are in the line?

19 (b) 36

35 (d) 42

If 'x' means 'addition' , '-' means 'division', '+' means'
'subtraction' addition means xthen which of the following
equation is correct ?

Tfe '« @1 Y wire §, @ - &1 3 @ AT, 1+ B 3k
? " gera wits &1 3 § « fbr Fufafaa # @ w9 &
THH0 98l 82

16+5-10x4+3=9
16+5+10x4-3=9

e vy ¥ fou e e 9 9 faww 2eg gfw)
In the following question, select the odd word from the
given alternatives.

(b) 16-5x10+4+3=12
(d) 16x5:10+4-3=19

U (3ad= ) Pin (b) ﬁ’s‘ Needle
Bl stick (d) PId Nail
T YR $T YIY DG A IM P18 | I UHR BT T Ps

3 fraer 32

The kind of relationship DG to JM is. Which type of
relationship is with PS?

Wz (b) uXx

VX (d) STHIADE el

fort fAf3ra s A sTumBLED BT NvuTCDKA forET SITaT
21 S BIS H caLaMITY B S ferar a2

In a certain code, STUMBLED is written as NVUTCDKA. How
to write CALAMITY in the same code?

BMBDXSHL (b) BMBDLHSX

BMBDZUIN (d) BMBDNJUZ

3 URY # 20 Hex IR famn #Y ok wrelt |1 fbw 30
Hiex gra f=m & fibx 10 Hiex gl e A ot 8, fw
a0 ez ufdm fa=n & Srer $ A1t 31 3, 98 URfUS
TIF & goTad ford fem A 82

Anu initially goes 20 meters towards North. Then 30 meters
to the east, then 10 meters to the south, then 40 meters to
the west and stops. Now, in which direction is he facing the
starting place?

3TR-YRd North east (b) ITR-UMYH North West
Ui The west (d) 37X North
ABBIHERIC,BHIATEIM, CPIIET I B BT M EAT

Ty 82
A is brother of B C is the mother of B. M is the sister of C.
What is B's M?

HeltoT nephew
\313 Aunty

(b) TSI niece
@) Fruffea =gt fooar s g

Can not be determined
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59. 74 as‘%ch Ed| Th ufea ﬁ, %’ElT TR BRI 27d WA R In each of the questions given below, a question-figure and
21 UaF , 4dT & g 7d WM W 2| T BT T Ui four answer-figures are given. Of the given figures Choose a
a;a-ragﬁqaﬁ Gﬁ?ﬁW% ? figure in which the question-figure mirror image is made.

In a row of 74 girls, Shweta is 27th from the left end. Palak
is 7th to the right of Shweta. What is Palak 's position from
the right end of the line?

(@) 40 (b) 44
(c) 42 (d) 41

60. froafEa uy & te srgww & mn 3.~/ e ue e
9@ ¢ | RY T e ¥ @ 95 9 Rew ghe st -Ga ﬂﬂ
sTPRPTH. B
A sequence has been given in the following question, in @ L_ (b)
which one post is missing. Select the correct option from
the given options that will complete the sequence:

22,31, 42,55,?, 87 o
(@) 64 (b) 70 = 51N
(c) 72 (d) e8 (c) (d)

61. Frafafaa ez ot g o= ok * Rt F w—EA 64
R yfawifid #7 & forw nfordia faeet &1 wdt w9 )

In each of the following questions, five words have been
given out of which four are alike in some manner, while the

aqe glill'{ : fifth one is different. Choose out the odd one .
To balance the following equation and replace it at the ﬁ'&lﬁl’@ﬁ qdd Uy ﬁ, urg b ﬁ'l'{ b1y %‘l IR
place of * symbol, select the right sequence of WW'\QW% W’ﬁ?mm%l ﬁmaﬁiﬁl
mathematical symbols: !
G*g*3*xg*g (a) Rose T[clld T el (b) Lotus ®HA
(@) x+=x (b) x-=x (c) Marigold ﬁ%ﬁtﬁf (d) Dahlia TRy 1 1A
() ++-= (d) +x+= WWE@T&[W
62. ﬁ%q[ . ﬁ'g uy ﬁ'q T TG UT SmeTid %| ﬁ'& 1y 65. ‘TI% f<ft Aipfa® HTIT A 'BANGALORE' HY 'CZOFBKPQF'
3T H ST A T B! B, Brye A Rl @ aurqa @ fora =ima &, @ 'cHANDIGARH' BT ST WTeT & H¥ feran
TS| B e farar T 8 SR 3ma & 3ige <t wit ‘_"f'q‘“? |
3P P gRI TP 3'31:"1%'3; IJET3N Y ESZ'IfCIT ™ If 'BANGALORE' is written 'CZOFBKPQF' in sign language,
Ry aa ¥ 3 RE %I ﬁ'l;[ T T IH A GI'?!TQE how will 'CHANDIGARH' be written in the same language?
PP U BT IR AT (8) DGBMEHHZSG (b) DHBMEHHZSG
(c) DGBMEHIZSH (d) DGBMEHHZRG
15 66. In the following questions, one term in the number series is
7 wrong . Find out the wrong term.
Frafafeaa ust @ e yaer & v W Tad g1 Tad
12 /4 TG, [T PIoT|
35 9 16 196, 169, 144, 121, 101
f , (@) 101 () 121
U feal 3t T fra & Sl Paa MaP & ? (c) 169 (d) 196
Direction : The following question is based on the given .
diagram. The given diagram depicts the managers from the 67. WT 39l UBR QN ¥ gefea %I S uer ... A Fc
rectangle, the women from the triangle and the singers Hﬁﬁﬁr%l
from the circle, and the numbers inside the diagram WT is related to QN in the same way. The way FC is related
represent their proportional numbers in the area in which 0 vereeennn
they are located. Study the following diagram carefully and
(@ u (b) My
answer the question. What is the number of persons who
are singers only? (€) GK @ e
(@) 16 (b) 15 68. fafl ff3a ®1s W DREAMING T BFSEFMHL B 1 S0 ®IS
© 8 (d) 4 H TREATISE BT $4 foraT ST »
. DREAMING is BFSEFMHL in a certain code. How to write
63. ﬁﬁvnﬁ m AT 1;[%['-3!1@‘&-[ SR IR FWR- TREATISE in the same code?
srpfaat & € g 33?'-348['?5'3‘1" 9 ¥ | TP T anpfa (3) USFBDRHS (b) BFSUDRHS
1 95 P, fored war -smpfr Prew gor fdfara (c) BFSUSHRD (d) BDOSDRHS

CEIE
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69.

@
(©

70.

@
(©

71.

@)
©

72.

@
©

73.

@

(©

74.

@
(©

75.

e e faweat & 3 TrEfia sierY @) g -
Select related letters from the given options -
JLNP: OMKI :: SUWY:?
XVTR

PLHD

(b) MLKI
(d) PGHI

RAQDPITHBIM BB TGATH QBTIARI M, RAFIT
Y F?

R is the daughter of Q. M is the sister of B, who is the son of
Q. What is the relationship between M, R ?

Tl Grandson (b) HIoH cousin
g sister (d) S3I<aunt

TH U HATYTB & T | 6 TSP & aUT A Ui &
TN AT ASPI gl BAYTCHF AA A3 ASh g1 afe ¢
F YT 12 dSF &), A iR A pH-A-PH fPar ded &

There are 6 boys in the middle of A and B in a row and the
first guy in A line. There are 3 boys in the middle of B and C.
If there are 12 boys after C, then at least how many boys in
the line?

20 (b) 24

16 (d) 18

& TS W@ A H TS Sguged YT S &t g
HELE SRR IGEI T D

The number is given an inappropriate or inconsistent in the
series. Find that number -

13700, 1957, 326, 65, 16, 6, 2

1957 (b) 326
65 d) 6

afe '+ &1 3 8 UFT 5% 3rf B wisAr; w3 & o
« 0 o 3 § g ; af Fufaf@e & @ &9 - @
e 8 2

If '+' means 'divide'; x means 'add'; '-' means 'multiply'; '+
means ‘event’; Then which of the following equations is
correct?

5-3+2x4+8=2 (b) 5x3+2-4x8=19

5+3%x2-4+8=8

i forsdt womrelt & SMYR W $© wHieRur ga fw e
Fifird F U d f@d IR S # 99 T W TR
qdigul

Below are some equations solved on the basis of a system.
Out of the four answers given as an option, state the
correct answer to the question.

(d) 5+43x2+4-8=4

4x6=72,

81 x5=225

9x? =147

7 () 8
29 d) 43

= : gy Ry M s wR snutia 81 &4 w
G H T I yeUDt B, Ay & Reai sraurga d
Mad! $1 R g man 8 o 3 & 3igR &t Wit

3P & FRT IS JUIAD TBA3M HY 4T 747 8
o a7 o 3 @ 81 Ay s &1 o @ i
PIP UY T IR S|

! K—
%ﬁ;ﬁf?ﬁaﬁmﬁmﬁ%ﬁ‘r%w‘wamw
?

Direction : The following question is based on the given
diagram. The given diagram depicts the managers from the
rectangle, the women from the triangle and the singers
from the circle, and the numbers inside the diagram
represent their proportional numbers in the area in which
they are located. Study the following diagram carefully and
answer the question. What is the number of such women,
who are both managers and singers?

(@ 12 (b) 11
(€ 7 (d) 4

[ Numerical Ability ]

ma + nc
76. Ifa:b=c:d,then mb + nd is equal to
ma + nc

fe ifa:b=c:d, @ mb + nd W%-
(@ m:n (b) dm:cn
(c) an:mb (d) ab
77. The adjacent side of a rectangle formed in a circle is 5 cm

(@)
(©)

78.

(@)

and 12 cm long, then length of the radius of the circle be?

it gu # fAfifa smaa &1 fFaRT 5 A oiv 12 A
a1 glar 8, Y < Beu o) g fpae g1 anfgee
6cm 6 THT (b) 6.5cm 6.5 T
8cm 8 THT (d) 8.5cm 8.5 T

A and B can complete a work in 18 days and 15 days
respectively. They started doing the work together but after
3 days A had to leave and B alone completed the remaining
work. The whole work was completed in

A 3R B HURT: 18 & 3R 15 3 & v &0 @1 W~
TP &1 I TP ATY BTH ST = R a1, Afp
3 fa & 91 A B B BISAT UST 3R B 7 3AFA &
1t ST IR a1 qR1 1 faraq e & gy 8t e

3 . 1
9= fef -
1 104%?

(b)
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(©

79.

@
©

80.

@)
©

81.

@
©

82.

@
(©

83.
G
©

84.

@
(©

85.

1 3
12— e
2%? 124%?{

(d

Mary jogs 9 km at a speed of 6 km per hour. At what speed
would she need to jog during the next 1.5 hours to have an
average of 9 km per hour for the entire jogging session?

A 6 frrlt ufq 62 F TR F 9 ol St 1 s
ST AR I/ AT 1.5 G &b IR ot TR
AT B3 P oToxd giit o ¥ A3 &7 3 a9
it wfer € amae

9 kmph 9 Tt Tfd get (b) 10 kmph 10 f&Ht U ger
12 kmph 12 f&Htufdsier  (d) 14 kmph 14 foseit fa ser
A sum of money becomes 7/6 of itself in 3 years at a certain

rate of simple interest. The rate per annum is
TIYRUT AT Pt TP A g W 3 9l & g &1 4w
7/6FATTaTg I ufd af F R @

5 5
5—% 6—
18% (d) 25%

A wheel makes 1000 revolutions in covering a distance of
88 km. Find the radius of the wheel .

g8 foret @1 g8t 7a A ¥ uw ufFar 1000 TFHR AT
21 ufiRu &t e 319 ifsrg)

14m 144t (b) 15m 154t
18 m 18 1t (d) 19m19t
A shopkeeper expects a gain of 22% % on his cost price. If in

a week, his sale was of Rs. 392, what was his profit?

TP GHGR DI U AN &I R 22%% BT ATH g
¥t 3ufie ?1 afe ve Twre o, TP fawl F 302 AfF,
SHPT ATH HT UT?

Rs. 18.20 (b) Rs.70
Rs.72 (d) Rs.88.25
1904 x 1904 =?

3654316 (b) 3632646
3625216 (d) 3623436
Rita invested 25% more than Sunil. Sunil invested 30% less

than Abhinav, who invested Rs. 6000. What is the ratio of
the amount that Rita invested to the total amount invested
by all of them together?

e &Y gam | a1 25% it fFa= fean e A
31T | 30% wH AT fsar, fora= v s000 a2 5
I AR T /T U B S a1 A pa Franes fFaw

P78 A 1 faw fpar @
35:104 (b) 13:29
101:36 (d) 35:105

In an isosceles triangle, if the third angle is equal to two
times the sum of the two angles. Then find the value of
both angles?

(@)
(©

86.

(@)
(©)

87.

(@)
(©)

88.

(@)
(©)

89.

(@)
(©

90.

(@)
(©)

91.

(a) %ﬁ?ﬂ Hacking

gufgarg Ays ¥, afe da=1 sior @ Hon & a7 a1
ST R | R S o &1 |1 Ja Sifore?

120° (b) 60°
30° (d) 90°
X and Y can do a piece of work in 20 days and 12 days

respectively. X started the work alone and then after 4
days, Y joined him till the completion of the work. How long
did the work last?

X 3R v HHRT: 20 feA 3R 12 fo A v H1H H AHd
g1 x 9 AP HH IR fpar R R a RA F 18, v A
D R q6 ST (64T | HTH $a aF Iar?

6 days 6 fa (b) 10 days 10 feT
15 days 15 faq (d) 20 days20feT

DI Afcd U T Bt 3/4a g T W, 1/6 NRT A
AR A 2 feft. Yo @ w=ar 31 99 A A Fa
frait g @12

A person travels 3/4 by bus, 1/6 by rickshaw and the
remaining 2 km on foot. How much did that person travel?

12 fpml. 12 km (b) 18Tl 18 km
20 fobH. 20 km (d) 24fHd 24 km
An amount of Rs. 10000 becomes Rs. 14641 in 2 years if the

interest is compounded half-yearly. what is the rate of
compound interest p.c.p.a.?

gfe apqfs sl @1 o sefarfies wu & faan wmar
®, oY 2 9T § ¢ 10000 $UT A T¢HT 14641 TUT B STl
Fiufaad awmgfS I F R AT

10% (b) 12%

16% (d) 20%

Find the volume and surface area of a sphere of radius 10.5
cm.  10.5 A B AT & TH M BT A 3R gy
TG JTd B

5651cm’,1259 cm’ (b) 4851cm’, 1386cm’

3561cm’,1356 cm’ (d) 49851cm’2569 cm’

The sale price of an article including the sales tax is Rs. 616.
The rate of sales tax is 10% If the shopkeeper has made a
profit of 12% then the cost price of the article is

et o2 afed ve Jm &1 fas 4o 616 3UA 81 fal
T P & 10% § U GPTER A 12% T ATY HHTAT § At
T &1 TN Yo 71 82

Rs. 500 TTY 500 (b) Rs.515%UT 515

Rs. 550 ¥U 550 (d) Rs. 600 U 600

[ Computer Awareness }

geve W G W F ufaat wRA &1 uh
fafa gl

is a method of flooding the Internet with copies

of the same message.
(b) Tftf Spamming
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(©

92.

@

(©

93.

@)
©

94.

@
(©

95.

@
©

96.

@
(©

97.

@
(©

98.

@
(©

929.

@
(©

100.

@

E;IGH Trojans (d) g Worms

FIYeR Neiege= f5a Hga 82

What is called as the Computer resolution?
FURTPHABINBR  (b) by [dSie & I
Size of the computer Number of active windows
screen

TATE RTPIW) WIMET  (d) TR 1 T3 Number
I BT Number of of pixels
running programmes

"URL" TS H "R" T GRITCT 82

What does "R" Represent in "URL" address?
(b) Rapid

(d) Random

Frafafeaa & 9 fFae ST 481 ©U 3§ $Her-Uss
f&¥I184 (cAD) 3R FUger W A0 Ve H fpar wrar 82
Which one of the following is mainly used in Computer-
Aided Design (CAD) and playing games on the computer?

T BhH Touch Screen (b) 253'1%1 Track Ball

SaRe® Joystick (d) TR Scanner

THTY 98 H ¢Re &I Wi H & AT, STaRTHdt Bl

3 99 FA & T e W IR fFa®

FATEATR

For formatting text in MS Word, the user has to click
times on a paragraph to select it.

Resource

Reserve

gl Two (b) @ Three
IR Four (d) T4 Five
Frafafaa & & $i9-a1 ofRd=E e & e # 78

L
Which of the following applications is NOT owned by
Google?

J&Id YouTube (b) TSITS Android
Q‘s’@fﬂ Ad Sense (d) @ET Twitter
GPU BT YU U §-

GPU stands for

Gross Processing Unit (b) Graphics Processing Unit

(d) Global Processing Unit

ol deTSe & UBA U Y PEISTEAT R

The first page of a website is known as the
e U Front page (b) Eh_g.ﬁﬁaﬁf Control page
B9 UST Home page (d) THIY UST Access page

ga¥c¢ # TORT fh T ST 91aT Ug e 99 §o PI9-971 82

Which is the first search engine used in internet?

General Processing Unit

glg Yahoo (b) [Tl Google
TSRS Excite (d) 3= Archie
frafafRa #  en-ar e s-SfPr st rer @2

Which of the following is one of the Type of E-Banking?

AaTgd SfHT Mobile (b) 3faE ST online

Banking Banking
(c) TTH ST ATM Banking  (d) Judad Tt All of the
above
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